HBR(L) &% — KREEATEI (warus)
{ES R R ETEETE 1R

(BERA)

C ALR#EIEE
T
\
i i
|
I
0
D ESEEES
15 H &L 2 (mm) @20 @25 @32 @40 @50 263 @80
iy 7= mm @12 @14 @16 @16 @20 @20 @25
1EBNFZ X wER
R meE EIRAZBEER
=119 kgf/cm? (kPa) 8(800)
FHRNEE kgflcm? (kPa) 1~ 7(100~ 700)
BmEETRE mm 11 13 15
TR mm 15 17 20
fIsEME #Ee
ird 9= 90%2°
ird Lyl k% (HAME) -L ; A8 (REAA) -R
BRI (N) (6kgficm?) 120 200 360 630 980 1680 2666
CEEXR
R @20 @25 @32 @40 @50 @63 @80
EE kg 0.3 05 0.7 0.9 15 2.1 3.1
CEFIETMIEAR
HB R 25 13 — 9D 2
1 2 3 4
&L A 1R B E S B
20 - g20mm
25 - @25mm %
32 - @32mm
40 - @40mm Ccs-9D 0T
L: RRABETHR 22 222 mm P WS THBAEE
& mm N g =
kol 60 - Bo0mm (BT ELIE) ¢ ML 28 7358 (CS-0D)
220 13 FE 257848/ (CS-9B)
225 - 13mm FESRTESA (CS-9H)
@32 - 15mm [9DP]: R 3518 A B (CS-9DPNP)
@40 - 15mm
@50 - 17mm
R: RRAABET 263 - 17mm
@80 - 20mm




HBR(L) &% — KREBATEIL (warus)
SMEERRT

O HBR(L) @20 ~ @80

4-gL
Gl
F N )
\ \
|
1 o
! ! °
4 A
El | E1 ] | =
o L ”1
Cy o
i <
o !
P4 o <
o
o | (6]
z ]
{0
M
ol
R
Q
| ‘\
| S
|| 110 | 5 8
I I
s
51 ST A Al A2 B C D1 E1l F G1
@20 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
@25 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
@32 26 82 108 (128) 78 28 019 M8x1.25 8 70
@40 26 82 108 (128) 78 28 019 M8x1.25 8 75
@50 30 94 124 (150.4) 90 31 025.4 M10x1.5 10 85
@63 30 94 124 (150.4) 90 31 0254 M10x1.5 10 95
@80 35 110 145 (176.4) 105 35 [130.4 M12x1.75 12.5 127.5
R I J K L M N Q R S T U N1 N2 | N3
@20 @31 33 26 | @3.3 | M5x0.8P | 35 @68 | @11 | @12 5 8.5 75 13 415
@25 @35 38 30 | @46 |M5x08P | 35 | @68 | @11 | @14 5 8.5 8 16.5 | 39.5
@32 @46 50 40 | @52 |PT1/8 50 | @9 @14 | @16 7 95 | 115 | 19 45
@40 @55 60 48 | @68 | PT 1/8 55 | @9 @14 | @16 7 9.5 14 19 45
@50 @65 70 57 | @68 | PT1/8 60 | @11 | @18 | @20 9 125 | 17 21 54
@63 @78 83 67 | @9 |PT1/8 70 | @11 | @18 | @20 9 125 | 20 21 54
@80 @96 | 105 84 | @11 |PT 14 9 | @13 | @20 | @25 11 145 | 255 | 235 | 665




	3.0-B_部分793
	3.0-B_部分794

